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2016/17-ci tədris ili Yaz semestri imtahan sualları
1. A Ltd has fi xed costs of £60,000 per annum. It manufactures a single product which
it sells for £20 per unit. Its contribution to sales ratio is 40 per cent.
A Ltd’s breakeven point in units is:
(A) 1,200
(B) 3,000
(C) 5,000
(D) 7,500.
2. B Ltd manufactures a single product which it sells for £9 per unit. Fixed costs are
£54,000 per month and the product has a variable cost of £6 per unit.
In a period when actual sales were £180,000, B Ltd’s margin of safety, in units, was:
(A) 2,000
(B) 14,000
(C) 18,000
(D) 20,000.
3. For the forthcoming year, E plc’s variable costs are budgeted to be 60 per cent of
sales value and fi xed costs are budgeted to be 10 per cent of sales value.
If E plc increases its selling prices by 10 per cent, but if fi xed costs, variable costs per
unit and sales volume remain unchanged, the effect on E plc’s contribution would be:
(A) a decrease of 2 per cent.
(B) an increase of 5 per cent.
(C) an increase of 10 per cent.
(D) an increase of 25 per cent.

4. An organisation currently provides a single service. The cost per unit of that service
is as follows:
£
Selling price 130
Direct materials 22
Direct labour 15
Direct expenses 3
Variable overheads 10

Total fixed costs for the period amount to £1,600,000. How many units of service
(to the nearest whole unit) will the organisation need to provide to customers to
generate a profi t of £250,000?
(A) 20,000
(B) 20,555
(C) 23,125
(D) 26,428

5. P Ltd provides plumbing services. Due to a shortage of skilled labour next period
the company is unable to commence all the plumbing jobs for which customers have
accepted estimates.
When deciding which plumbing jobs should be commenced, the jobs should be
ranked according to the:
(A) Contribution to be earned from each job.
(B) Profi t to be earned from each job.
(C) Contribution to be earned per hour of skilled labour on each job.
(D) Profi t to be earned per hour of skilled labour on each job.
7. Z Ltd manufactures three products, the selling price and cost details of which are
given below:
Product X
£
Product Y
£
Product Z
£
Selling price per unit 75 95 95
Costs per unit:
Direct materials (£5/kg) 10 5 15
Direct labour (£8/hour) 16 24 20
Variable overhead 8 12 10
Fixed overhead 24 36 30
In a period when direct materials are restricted in supply, the most and the least
profi table uses of direct materials are:
Most profi table Least profi table
(A) X Z
(B) Y Z
(C) Z Y
(D) Y X
8. OT Ltd plans to produce and sell 4,000 units of product C each month, at a selling
price of £18 per unit. The unit cost of product C is as follows:
                      £ per unit
Variable cost 8
Fixed cost     4
                    12
COST–VOLUME–PROFIT ANALYSIS
FUNDAMENTALS OF MANAGEMENT ACCOUNTING 105
To the nearest whole number, the monthly margin of safety, as a percentage of
planned sales is            %


9.  Product J generates a contribution to sales ratio of 30 per cent. Fixed costs directly
attributable to product J amount to £75,000 per month. The sales revenue required
to achieve a monthly profi t of £15,000 is        £ .
10.
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12.The ingredients price variance is:
(A) £1,503 favourable
(B) £1,503 adverse
(C) £1,603 favourable
(D) £1,603 adverse

13. The ingredients usage variance is:
(A) £100 favourable
(B) £100 adverse
(C) £105 favourable
(D) £860 adverse
14. The labour rate variance is
(A) £325 favourable
(B) £325 adverse
(C) £1,045 favourable
(D) £1,045 adverse
15. The labour effi ciency variance is
(A) £680 adverse
(B) £720 adverse
(C) £720 favourable
(D) £1,260 adverse
16. The variable overhead expenditure variance is:
(A) £1,254 favourable
(B) £1,254 adverse
(C) £1,534 favourable
(D) £1,534 adverse
17. The variable overhead effi ciency variance is:
(A) £151 adverse
(B) £160 adverse
(C) £160 favourable
(D) £280 adverse
18.
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19. During a period 17,500 labour hours were worked at a standard cost of £6.50 per
hour. The labour effi ciency variance was £7,800 favourable. The number of standard
labour hours expected for the output achieved was:
(A) 1,200
(B) 16,300
(C) 17,500
(D) 18,700.
20. 
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21. The sales price variance for period 9 was:
(A) £465 favourable
(B) £465 adverse
(C) £472 favourable
(D) £472 adverse
22. The sales volume contribution variance for period 9 was:
(A) £147 favourable
(B) £147 adverse
(C) £154 favourable
(D) £154 adverse
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30. If the company reports idle time separately, the labour effi ciency variance for the
period is:
(A) £126 favourable
(B) £142 favourable
(C) £66 adverse
(D) £126 adverse



31. The labour rate variance for the period is:
(A) £259 favourable
(B) £259 adverse
(C) £325 favourable
(D) £325 adverse
32. The idle time variance for the period is:
(A) £24 adverse
(B) £24 favourable
(C) £192 adverse
(D) £192 favourable
33.
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35. Jobs 1 and 2 were the only incomplete jobs. What was the value of closing work in
progress?
(A) £ 81,900
(B) £ 90,175
(C) £ 140,675
(D) £ 214,425


36. Job 3 was completed during the period and consisted of a batch of 2,400 identical
circuit boards. The fi rm adds 50 per cent to total production costs to arrive at a selling
price. What is the selling price of a circuit board?
(A) It cannot be calculated without more information.
(B) £ 31.56
(C) £ 41.41
(D) £ 58.33
37.
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42. Process B had no opening WIP. 13,500 units of raw material were transferred in at
£ 4.50 per unit. Additional material at £ 1.25 per unit was added in process. Labour
and overheads were £ 6.25 per completed unit and £ 2.50 per unit incomplete. If
11,750 completed units were transferred out, what was the closing WIP in process B?
(A) £ 77,625
(B) £ 14,437.50
(C) £ 141,000
(D) £ 21,000
43. In a process account, abnormal losses are valued:
(A) at their scrap value.
(B) at the same rate as good production.
(C) at the cost of raw materials.
(D) at good production cost less scrap value.
44. A chemical process has a normal wastage of 10 per cent of input. In a period,
2,500 kg of material were input and there was an abnormal loss of 75 kg.
What quantity of good production was achieved?
(A) 2,175 kg
(B) 2,250 kg
(C) 2,325 kg
(D) 2,475 kg
45-47
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45. What is the value of the abnormal loss (to the nearest £ )?
(A) Nil
(B) £ 489
(C) £ 544
(D) £ 546
46. What is the value of the output (to the nearest £ )?
(A) £ 39,139
(B) £ 43,488
(C) £ 43,680
(D) £ 43,977
47. What is the value of the closing work in progress (to the nearest £ )?
(A) £ 4,403
(B) £ 4,698
(C) £ 4,892
(D) £ 4,947
48.
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55
OT Ltd plans to produce and sell 4,000 units of product C each month, at a selling
price of £18 per unit. The unit cost of product C is as follows:
                      £ per unit
Variable cost 8
Fixed cost     4
                    12
COST–VOLUME–PROFIT ANALYSIS
FUNDAMENTALS OF MANAGEMENT ACCOUNTING 105
To the nearest whole number, the monthly margin of safety, as a percentage of
planned sales is            %

56. P Ltd provides plumbing services. Due to a shortage of skilled labour next period
the company is unable to commence all the plumbing jobs for which customers have
accepted estimates.
When deciding which plumbing jobs should be commenced, the jobs should be
ranked according to the:
(A) Contribution to be earned from each job.
(B) Profi t to be earned from each job.
(C) Contribution to be earned per hour of skilled labour on each job.
(D) Profi t to be earned per hour of skilled labour on each job.
57. Z Ltd manufactures three products, the selling price and cost details of which are
given below:
Product X
£
Product Y
£
Product Z
£
Selling price per unit 75 95 95
Costs per unit:
Direct materials (£5/kg) 10 5 15
Direct labour (£8/hour) 16 24 20
Variable overhead 8 12 10
Fixed overhead 24 36 30
In a period when direct materials are restricted in supply, the most and the least
profi table uses of direct materials are:
Most profi table Least profi table
(A) X Z
(B) Y Z
(C) Z Y
(D) Y X
58. OT Ltd plans to produce and sell 4,000 units of product C each month, at a selling
price of £18 per unit. The unit cost of product C is as follows:
                      £ per unit
Variable cost 8
Fixed cost     4
                    12
COST–VOLUME–PROFIT ANALYSIS
FUNDAMENTALS OF MANAGEMENT ACCOUNTING 105
To the nearest whole number, the monthly margin of safety, as a percentage of
planned sales is            %

58. Process B had no opening WIP. 13,500 units of raw material were transferred in at
£ 4.50 per unit. Additional material at £ 1.25 per unit was added in process. Labour
and overheads were £ 6.25 per completed unit and £ 2.50 per unit incomplete. If
11,750 completed units were transferred out, what was the closing WIP in process B?
(A) £ 77,625
(B) £ 14,437.50
(C) £ 141,000
(D) £ 21,000
59. In a process account, abnormal losses are valued:
(A) at their scrap value.
(B) at the same rate as good production.
(C) at the cost of raw materials.
(D) at good production cost less scrap value.
60. A chemical process has a normal wastage of 10 per cent of input. In a period,
2,500 kg of material were input and there was an abnormal loss of 75 kg.
What quantity of good production was achieved?
(A) 2,175 kg
(B) 2,250 kg
(C) 2,325 kg
(D) 2,475 kg
61. A Ltd has fi xed costs of £60,000 per annum. It manufactures a single product which
it sells for £20 per unit. Its contribution to sales ratio is 40 per cent.
A Ltd’s breakeven point in units is:
(A) 1,200
(B) 3,000
(C) 5,000
(D) 7,500.
62. B Ltd manufactures a single product which it sells for £9 per unit. Fixed costs are
£54,000 per month and the product has a variable cost of £6 per unit.
In a period when actual sales were £180,000, B Ltd’s margin of safety, in units, was:
(A) 2,000
(B) 14,000
(C) 18,000
(D) 20,000.
63. For the forthcoming year, E plc’s variable costs are budgeted to be 60 per cent of
sales value and fi xed costs are budgeted to be 10 per cent of sales value.
If E plc increases its selling prices by 10 per cent, but if fi xed costs, variable costs per
unit and sales volume remain unchanged, the effect on E plc’s contribution would be:
(A) a decrease of 2 per cent.
(B) an increase of 5 per cent.
(C) an increase of 10 per cent.
(D) an increase of 25 per cent
65. P Ltd provides plumbing services. Due to a shortage of skilled labour next period
the company is unable to commence all the plumbing jobs for which customers have
accepted estimates.
When deciding which plumbing jobs should be commenced, the jobs should be
ranked according to the:
(A) Contribution to be earned from each job.
(B) Profi t to be earned from each job.
(C) Contribution to be earned per hour of skilled labour on each job.
(D) Profi t to be earned per hour of skilled labour on each job.
7. Z Ltd manufactures three products, the selling price and cost details of which are
given below:
Product X
£
Product Y
£
Product Z
£
Selling price per unit 75 95 95
Costs per unit:
Direct materials (£5/kg) 10 5 15
Direct labour (£8/hour) 16 24 20
Variable overhead 8 12 10
Fixed overhead 24 36 30
In a period when direct materials are restricted in supply, the most and the least
profi table uses of direct materials are:
Most profi table Least profi table
(A) X Z
(B) Y Z
(C) Z Y
(D) Y X
66. OT Ltd plans to produce and sell 4,000 units of product C each month, at a selling
price of £18 per unit. The unit cost of product C is as follows:
                      £ per unit
Variable cost 8
Fixed cost     4
                    12
COST–VOLUME–PROFIT ANALYSIS
FUNDAMENTALS OF MANAGEMENT ACCOUNTING 105
To the nearest whole number, the monthly margin of safety, as a percentage of
planned sales is            %

67. The ingredients usage variance is:
(A) £100 favourable
(B) £100 adverse
(C) £105 favourable
(D) £860 adverse
68. The labour rate variance is
(A) £325 favourable
(B) £325 adverse
(C) £1,045 favourable
(D) £1,045 adverse
69. The labour effi ciency variance is
(A) £680 adverse
(B) £720 adverse
(C) £720 favourable
(D) £1,260 adverse
70. The variable overhead expenditure variance is:
(A) £1,254 favourable
(B) £1,254 adverse
(C) £1,534 favourable
(D) £1,534 adverse
71. The variable overhead effi ciency variance is:
(A) £151 adverse
(B) £160 adverse
(C) £160 favourable
(D) £280 adverse
72. A chemical process has a normal wastage of 10 per cent of input. In a period,
2,500 kg of material were input and there was an abnormal loss of 75 kg.
What quantity of good production was achieved?
(A) 2,175 kg
(B) 2,250 kg
(C) 2,325 kg
(D) 2,475 kg
73.A Ltd has fi xed costs of £60,000 per annum. It manufactures a single product which
it sells for £20 per unit. Its contribution to sales ratio is 40 per cent.
A Ltd’s breakeven point in units is:
(A) 1,200
(B) 3,000
(C) 5,000
(D) 7,500.
74. B Ltd manufactures a single product which it sells for £9 per unit. Fixed costs are
£54,000 per month and the product has a variable cost of £6 per unit.
In a period when actual sales were £180,000, B Ltd’s margin of safety, in units, was:
(A) 2,000
(B) 14,000
(C) 18,000
(D) 20,000.
75. For the forthcoming year, E plc’s variable costs are budgeted to be 60 per cent of
sales value and fi xed costs are budgeted to be 10 per cent of sales value.
If E plc increases its selling prices by 10 per cent, but if fi xed costs, variable costs per
unit and sales volume remain unchanged, the effect on E plc’s contribution would be:
(A) a decrease of 2 per cent.
(B) an increase of 5 per cent.
(C) an increase of 10 per cent.
(D) an increase of 25 per cent
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‘PH Ltd has spare capacity n its factory: A supermarket chain has offered to buy a number
of unitsof product XZ cach month, an his would welse the spare capaciy: The super-
markec i ofcring a price of 8 per unit and the cost structure of XZ is asfollows:

Sperun
Divc el 5
D Lbeur 2
Varabe avabead 1
Facdovchcd 3
3
Fixed costs would ot be affcted.
On 2 purely financial basis, should the supermarkecs offerbe accepted or rejected?

Accepeshe offer 1
Rejec the ofcr 01
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The standard cost card for product K shows that cach unit requires four houss of
diec labour s  sandard e of £8 per hour. Las prid, 420 it wer: produced
and the dirct Lbour cost amounicd to £15,300. The direct lsbous effciency var-
ance was £160 advers.

“The actual rate paid per direct labour hour is 6L
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